C Multiplication squares )

Fill in and complete the multiplication squares. Multiply the
numbers in each row and column to get the given product.

21510 919 6 | 36
7 14 < 24 0 0
14 | 10 4 | 54 0 |18
2 14 1 |5 4 | 28
8 |40 7 49 3 18
10 | 56 35| 7 21 | 24
10 20 3 15 2 14
535 9 | 8l 1 |6
70 | 10 27 | 45 12 | 7
5 30 2 | 8 9 172
8 56 = 28 2 12
48 | 35 16 | 14 16 | 63
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C Multiplication squares )

Fill in and complete the multiplication squares. Multiply the
numbers in each row and column to get the given product.

21510 11919 6| 6 |36
712 |14 4 | 6 |24 0O 31]0
14 | 10 4 | 54 0 |18
2 |7 |14 510115 714 |28
51 8 40 717 149 3 6 |18
10 | 56 35| 7 21 | 24
10| 2 | 20 3 15115 2 |7 |14
715135 9 19 |8l 6 | 1|6
70 | 10 27 | 45 12 | 7
6 |5 |30 4 12| 8 819 |72
8 | 7 |56 4 | 7 |28 2 | 7 |12
48 | 35 16 | 14 16 | 63
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